
Erbijsommen t/m 5

1. 2 + 1 = 3 7 2 6

2. 2 + 1 = 1 3 4 2

3. 2 + 1 = 7 4 9 3

4. 3 + 2 = 5 1 6 4

5. 3 + 2 = 4 3 9 5

6. 1 + 1 = 4 1 2 3

7. 3 + 1 = 4 1 2 9

8. 3 + 1 = 6 5 7 4

9. 1 + 1 = 2 7 4 1

10. 3 + 2 = 2 5 10 1

11. 3 + 2 = 5 3 8 1

12. 3 + 2 = 3 5 9 4

© JuniorEinstein.be Online oefenen  |  
Educatieve boeken  |  
Werkbladen  |  
Educatieve materialen

Optellen



Erbijsommen t/m 5 | ANTWOORDEN

1. 2 + 1 = 3 7 2 6

2. 2 + 1 = 1 3 4 2

3. 2 + 1 = 7 4 9 3

4. 3 + 2 = 5 1 6 4

5. 3 + 2 = 4 3 9 5

6. 1 + 1 = 4 1 2 3

7. 3 + 1 = 4 1 2 9

8. 3 + 1 = 6 5 7 4

9. 1 + 1 = 2 7 4 1

10. 3 + 2 = 2 5 10 1

11. 3 + 2 = 5 3 8 1

12. 3 + 2 = 3 5 9 4

© JuniorEinstein.be Online oefenen  |  
Educatieve boeken  |  
Werkbladen  |  
Educatieve materialen

Optellen


